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R F[FELER:207]

Bz [ Blh& FER KEFXEESE RRREXEEE
1= 1,012,000 |&#h 832,000 |AI 'R 710,000 |&#h 702,000 & 702,000
2|f=2Dmh 965,000 |f=2 DT 800,000 |=#h 702,000 | F#rth 670,000 JWIE/NEFET | 655,000
3RFATH 950,000 |k 780,000 | X h 693,000 |IUE/NEFET™ | 655,000 |t 627,000
 Kislodit) 948,000 |=TIR 780,000 | =2 DT 685,000 St 627,000 |k h
5|Eih 947,000 |FriETh 775,000 |#&#EH 684,000 | X &R
6| F#aTh 935,000 |MnE™ 770,000 |0 H 675,000 [#E#Hh FaUE T
bRl 934,000 |#&wiTH 760,000 |FREETH 673,000 |#HIETH Sk
8| &tk 926,000 | F#aThH 760,000 |$rFH 670,000 |&t7Kh mE
9|mE™ 925,000 54K 754,000 | F#ath 670,000 |MnETH fFImh
10|a] R 920,000 |# X 749,000 |8t 663,000 [fiFiIh AT
11|#E#™ 911,000 | 741,000 |ILE/NEFET | 655,000 |#aTTH b Eait]
12| IUFE/NEFE™H | 909,000 |LLES/NEFET™ | 740,000 |i#sHnHh 642,000 |$rFH Etr&EFHET
13| AT 907,000 |#&#Hh 740,000 | & 641,000 [EXEHH™ e &5 h
14| & 905,000 |RE#& T 736,000 |51k 640,000 | & Erh
15| B K h 880,000 |tk 725,000 |JEmh 627,000 |8t Tigh
16] L 870,000 |x¢tth 707,000 |#&%Fh 625,000 | X igh AR
17| 864,000 |&&iTh 700,000 |k th 590,000 |AI R HETH
18|ELXEHET 850,000 |Bimh 691,000 |#HI&H 567,000 |#EErH FRiEh
19|45 810,000 |[ExX&FH™ 650,000 |EXHH™ 555,000 |FRFEH f=2odDmh
20|85 T 790,000 |#E%F 650,000 |fiEiTh 539,000 =2 D1 T

OH25. 4 1BEDIKS

[ [iF= Blh& FER KEEXEES R EXEESE
1= 1,012,000 |[&&h 832,000 AT R 710,000 |=&h 702,000 |=&h 702,000
7 =elolii] 965,000 |[:=2 D1 800,000 |= kb 702,000 | FHarhiX 636,500 St 595,650
3|BH 947,000 |FATIR 780,000 | =2 D™ 685,000 |SEmi 595,650 |Wiks/NEFETX | 524,000
4|7l IR 920,000 [i&riH 760,000 |HnE X 670,000 |lUiE/DEFETHE| 524,000 |[BRmh
5|#& AT 907,000 | gtk 754,000 |8t 663,000 | h fEE™
6] AR T X 901,000 |MoE X 750,000 |#gith 642,000 |#&#Eth FRUE T
g X 900,000 |FRFEH X 736,250 | gk 640,000 |#HIETH Stk
8| Lk th 870,000 | Xk 725,000 |FREE™H X 639,350 |5tk mEm
PSR F X 855,000 | F#ATX 722,000 [#&#E X 636,804 |MNET™ &I
10|ELXEHET 850,000 |#aUETI X 704,000 | FHarhX 636,500 |f#:Ith AT
N1 IR NS 841,500 |3RFF X 702,000 |#&EFh 625,000 |#giIth S Eait]
12| FRAE X 840,600 |&&iTh 700,000 J#E X 623,700 |3t h Etr&EHETH
13| ] 45 T X 814,500 |Bih 691,000 |fE & i 621,770 |ELXSH™ [ &
14|45 810,000 |#&#rX 688,940 | X 603,000 | & h 3l
1556 X 777,600 |8 & i % 684,480 | St 595,650 |Bh T h
16] & T X 750,500 |RE X 674,100 | i h 590,000 | L&k AR
17|k /MEFERT | 727,200 |3ErX 671,650 |4 X 559,000 |ATIR HEET
18| f& T X 714,224 |ELSH™ 650,000 |EL & H™ 555,000 |#EEFTH FRism
19|57k X 648,200 |#zEF 650,000 |f#:Ih 539,000 |FRFEH 1=l
20| B R X 440,000 |ubs/MEFETE| 592,000 JLUB/NEFETX| 524,000 |/-DDmh THTH
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